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- 5 | [HERS |HES - RS ] (kcal/hr) %  [(keal/hr - &) (kcal/h) [BIERR (BXE) EE
A3 1 101 [/NeER=E FCU8Bx4 8130 4 32520| EJLRIJLFAC~ER
A3 1 102]/heEER= FCU8Bx4 8130 4 32520[EJLRIJLFACANER
A3 1 103| RER AR FCU8Bx2 8130 2 16260| EJLRJLFAC~AEE
A3 1 104|{LEER=E ACU-A601 46000 46000| EJLZIJLFAC~ER
A3 1 105/ eE R = FCU8Bx4 8130 4 32520[EJL R IJLFACANER
A3 1 106/MeEER= FCU8Bx4 8130 4 32520[ EJLRILFACAE R
A3 2 201[/h B = FCU8Bx4 8130 4 32520| EJLIJLFAC~AER
A3 2 202/NVEERE FCU8Bx4 8130 4 32520 EJLRILFACAE R
A3 2 203|RERE = FCU8Bx2 8130 2 16260[EJL Y L FACNZE R
A3 2 204 | A RERE ACU-A602 48300 48300[ EJLZIJLFACANER
A3 2 205|/NVEERE FCU8Bx4 8130 4 32520[EJLRILFACAE R
A3 2 206|/MeEEE= FCU8Bx4 8130 4 32520| EJLIJLFAC~E R
A3 3 01| KEE=E ACU-A604, FCU4Fx4 4080 4 18800 95120[EJLRILFACAE R
A3 3 302| RER#E 5= FCU8Bx2 8130 2 16260[EJL YL FACNEE
A3 3 303 |#p3 - HhFEERE  [ACU-A603 39400 39400[ EJLRIJLFACANER
A4 1 101 /M eE &= FCU8Bx4 8130 4 32520[ EJLRIJLFACAER
A4 1 102]/NEE=E FCU8Bx4 8130 4 32520| EJLIJLFAC~E R
A4 1 103/ eEZR = FCU8Bx4 8130 4 32520[EJLRIJLFACANER
A4 1 104/MeEER = FCU8Bx4 8130 4 32520[EJLRILFACAE R
A4 1 105|fREES = ACP-A701x4 9000 4 36000[EF# & S UBEEREE |IHENE2EOREST
Ad 1 106/MeEER = FCU8Bx4 8130 4 32520 EJLRILFACAE R
A4 1 107[hEgER= FCUG6F x6 6110 6 36660| EJLZJLFAC~NER
A4 1 108|pEgE= FCUGF x6 6110 6 36660(EJLTILFACANE R
A4 2 201 /NVERE FCU8Bx4 8130 4 32520[EJLRILFACAE SR
A4 2 202/ eEEE= FCU8Bx4 8130 4 32520| EJLRIJLFAC~E R
A4 2 203|/NEEEE FCU8Bx4 8130 4 32520 EJLIJLFACANER
A4 2 204/NERE FCU8Bx4 8130 4 32520| EJLRIJLFAC~ER
A4 2 205| KEB== FCU3Fx6, ACU-AT01 3050 6 64000 82300[EJLIJLFACANER
A4 2 206/NViEEE=E FCU61x3 6110 3 18330| EJLRILFACAEE
A4 2 207|/NiERE FCU61x3 6110 3 18330[ EJL YL FACAEE
A4 2 208|FEHERE FCU81x3 8130 3 24390 EJLIJLFACANER
A4 2 209/ iEEE FCU8Bx4 8130 4 32520[EJLZIJLFACAER
A4 2 210[/heEE= FCU8Bx4 8130 4 32520| EJLZIJLFAC~AE R
A4 3 301 |HEEHR= FCU8Fx6 8130 6 48780 EJLRIILFACAEE
A4 3 302|hEEHRE FCU8Fx6 8130 6 48780 EJL L FACAE R
A4 3 303|hEEE= FCU8Fx6 8130 6 48780 EJLRIILFACANEER
A4 3 304|/NEERE FCU81x2 8130 2 16260| EJLYJLFAC~E R
A4 3 305/ eEE = FCU81x2 8130 2 16260[EJL <L FACNZE R
A4 3 306|/MeEE= FCU8Ix2 8130 2 16260| EJLYJLFAC~AEE
A4 3 07[/MiEEE FCU8Ix2 8130 2 16260[EJL YL FACAEE
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